

### **Summary of Bids Received**

**Project:** 2018 Pavement Marking Replacement

Section: 18-00000-15-GM

**Description:** Removal and replacement of existing distressed Pavement Markings

**CPMS Pin:** B-01139 **Let Date:** 5/22/2018

### Lake County Division of Transportation 2018 Pavement Marking Project

Bidder	Address	City, State, Zip	Bond	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng. Estimate
Superior Road Striping, Inc.	1980 Hawthorne Ave.	Melrose Park, IL 60160	Bid Bond	\$636,433.04	-28.71%	-\$256,289.53
Precision Pavement Markings, Inc.	P.O. Box 705	Elgin, IL 60121	Bid Bond	\$786,666.39	-11.88%	-\$106,056.19
Marking Specialists	214 Crystal St. Ste C	Cary, IL 60013	Bid Bond	\$1,023,766.32	14.68%	\$131,043.75
AC Pavement Striping Company	695 Church Rd.	Elgin, IL 60123	Bid Bond	\$1,129,512.45	26.52%	\$236,789.88
Engineer's Estimate				\$892,722.57		
Design	IDOT(2)	Contract Bidder	s	ES then Plan Rack		
Finance	Bid Tab File	Resident Eng.	A	dministrative Assis	stant	
Construction	Project File	Request By Mail	N	ngr Capital Prograr	nming	



#### Lake County Division of Transportation 2018 Pavement Marking Project - Return Bid Tabulation

Project: 2018 Pavement Marking Replacement

Section: 18-00000-15-GM

**Description:** Removal and replacement of existing distressed Pavement Markings

**CPMS Pin:** B-01139 **Let Date:** 5/22/2018

									Precision Paven	aent Markings				
Item No.	Pay Code	Description	Quantity	Unit	Eng Esti	mate	AC Pavement Stri	ping Company	Marking S	pecialists	Superior Road	Striping, Inc.	In	0,
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	18,234.1	SQ FT	\$4.00	\$72,936.40	\$4.45	\$81,141.75	\$3.38	\$61,631.26	\$3.75	\$68,377.88	\$3.90	\$71,112.99
2	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	416,717.0	FOOT	\$0.60	\$250,030.20	\$0.58	\$241,695.86	\$0.61	\$254,197.37	\$0.47	\$195,856.99	\$0.63	\$262,531.71
3	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	61,916.0	FOOT	\$1.00	\$61,916.00	\$0.84	\$52,009.44	\$0.99	\$61,296.84	\$0.70	\$43,341.20	\$0.90	\$55,724.40
4	78000500	THERMOPLASTIC PAVEMENT MARKING - LINE 8"	4,918.0	FOOT	\$1.35	\$6,639.30	\$1.35	\$6,639.30	\$1.32	\$6,491.76	\$1.00	\$4,918.00	\$1.25	\$6,147.50
5	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	46,678.0	FOOT	\$2.00	\$93,356.00	\$2.20	\$102,691.60	\$1.98	\$92,422.44	\$1.40	\$65,349.20	\$1.95	\$91,022.10
6	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	5,268.0	FOOT	\$4.50	\$23,706.00	\$4.45	\$23,442.60	\$3.96	\$20,861.28	\$3.75	\$19,755.00	\$3.90	\$20,545.20
7	78009000	MODIFIED URETHANE PAVEMENT MARKING - LETTERS AND SYMBOLS	3,008.5	SQ FT	\$5.00	\$15,042.50	\$5.90	\$17,750.15	\$4.55	\$13,688.68	\$4.00	\$12,034.00	\$6.00	\$18,051.00
8	78009004	MODIFIED URETHANE PAVEMENT MARKING - LINE 4"	6,282.0	FOOT	\$1.00	\$6,282.00	\$0.68	\$4,271.76	\$0.83	\$5,214.06	\$0.45	\$2,826.90	\$1.00	\$6,282.00
9	78009006	MODIFIED URETHANE PAVEMENT MARKING - LINE 6"	11,689.0	FOOT	\$1.50	\$17,533.50	\$1.02	\$11,922.78	\$1.58	\$18,468.62	\$0.80	\$9,351.20	\$1.50	\$17,533.50
10	78009008	MODIFIED URETHANE PAVEMENT MARKING - LINE 8"	1,549.0	FOOT	\$2.00	\$3,098.00	\$2.05	\$3,175.45	\$2.10	\$3,252.90	\$1.00	\$1,549.00	\$2.00	\$3,098.00
11	78009012	MODIFIED URETHANE PAVEMENT MARKING - LINE 12"	3,029.0	FOOT	\$3.00	\$9,087.00	\$2.90	\$8,784.10	\$3.15	\$9,541.35	\$2.00	\$6,058.00	\$3.00	\$9,087.00
12	78009024	MODIFIED URETHANE PAVEMENT MARKING - LINE 24"	1,286.0	FOOT	\$6.00	\$7,716.00	\$5.90	\$7,587.40	\$6.30	\$8,101.80	\$4.00	\$5,144.00	\$6.00	\$7,716.00
13	LC780031	GROOVED PREFORMED PLASTIC PAVEMENT MARKING, TYPE D - LINE 4"	2,300.0	FOOT	\$5.50	\$12,650.00	\$6.90	\$15,870.00	\$4.57	\$10,511.00	\$7.00	\$16,100.00	\$3.25	\$7,475.00
14	LC780033	GROOVED PREFORMED PLASTIC PAVEMENT MARKING, TYPE D - LINE 6"	3,100.0	FOOT	\$7.50	\$23,250.00	\$10.35	\$32,085.00	\$6.86	\$21,266.00	\$9.00	\$27,900.00	\$5.00	\$15,500.00
15	LC780034	GROOVED PREFORMED PLASTIC PAVEMENT MARKING, TYPE D - LINE 8"	1,100.0	FOOT	\$10.00	\$11,000.00	\$15.00	\$16,500.00	\$9.14	\$10,054.00	\$11.00	\$12,100.00	\$6.00	\$6,600.00



#### Lake County Division of Transportation 2018 Pavement Marking Project - Return Bid Tabulation

Project: 2018 Pavement Marking Replacement

Section: 18-00000-15-GM

**Description:** Removal and replacement of existing distressed Pavement Markings

**CPMS Pin:** B-01139 **Let Date:** 5/22/2018

-									1	B				
Item No.	Pay Code	Description	Quantity	Unit	Eng Esti	mato	AC Pavement Striping Company Unit Price Extnd. Price		Marking Specialists Unit Price Extnd. Price		Superior Road Striping, Inc. Unit Price Extnd. Price		Precision Pavement Markings, Inc.	
item No.	ray code	резсприон	Quantity	Oille	Unit Price	Extnd. Price							Unit Price	Extnd. Price
16	LC780040	GROOVED PREFORMED THERMOPLASTIC PAVEMENT MARKING - LETTERS AND	728.0	SQ FT	\$25.00	\$18,200.00	\$95.00	\$69,160.00	\$18.00	\$13,104.00	\$26.00	\$18,928.00	\$35.00	\$25,480.00
17	LC780045	GROOVED PREFORMED THERMOPLASTIC PAVEMENT MARKING - LINE 12"	1,615.0	FOOT	\$7.50	\$12,112.50	\$45.00	\$72,675.00	\$16.83	\$27,180.45	\$19.00	\$30,685.00	\$17.50	\$28,262.50
18	LC780046	GROOVED PREFORMED THERMOPLASTIC PAVEMENT MARKING - LINE 24"	360.0	FOOT	\$12.50	\$4,500.00	\$92.00	\$33,120.00	\$33.75	\$12,150.00	\$31.00	\$11,160.00	\$35.00	\$12,600.00
19	X0327979	PAVEMENT MARKING REMOVAL – GRINDING	276,603.1	SQ FT	\$0.70	\$193,622.17	\$0.99	\$273,837.07	\$0.86	\$237,878.67	\$0.25	\$69,150.78	\$0.35	\$96,811.09
20	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$30,000.00	\$30,000.00	\$19,000.00	\$19,000.00	\$102,304.25	\$102,304.25	\$5.00	\$5.00	\$1.00	\$1.00
21	X7800815	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 4 INCH	59,820.0	FOOT	\$0.25	\$14,955.00	\$0.48	\$28,713.60	\$0.45	\$26,919.00	\$0.22	\$13,160.40	\$0.32	\$19,142.40
22	X7800835	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 6 INCH	8,530.0	FOOT	\$0.50	\$4,265.00	\$0.72	\$6,141.60	\$0.72	\$6,141.60	\$0.25	\$2,132.50	\$0.60	\$5,118.00
23	X7800845	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 8 INCH	1,100.0	FOOT	\$0.75	\$825.00	\$1.18	\$1,298.00	\$0.99	\$1,089.00	\$0.50	\$550.00	\$0.75	\$825.00
	Bid Total \$892,722.57					\$892,722.57		\$1,129,512.45		\$1,023,766.32		\$636,433.04		\$786,666.39



# Lake County Division of Transportation 2018 Pavement Marking Project - Return Bid Details

**Project:** 2018 Pavement Marking Replacement

Section: 18-00000-15-GM

**Description:** Removal and replacement of existing distressed Pavement Markings

**CPMS Pin:** B-01139 **Let Date:** 5/22/2018

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	18,234.1	SQ FT	\$4.00	\$72,936.40	\$3.38	\$4.45	\$3.87
2	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	416,717.0	FOOT	\$0.60	\$250,030.20	\$0.47	\$0.63	\$0.57
3	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	61,916.0	FOOT	\$1.00	\$61,916.00	\$0.70	\$0.99	\$0.86
4	78000500	THERMOPLASTIC PAVEMENT MARKING - LINE 8"	4,918.0	FOOT	\$1.35	\$6,639.30	\$1.00	\$1.35	\$1.23
5	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	46,678.0	FOOT	\$2.00	\$93,356.00	\$1.40	\$2.20	\$1.88
6	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	5,268.0	FOOT	\$4.50	\$23,706.00	\$3.75	\$4.45	\$4.02
7	78009000	MODIFIED URETHANE PAVEMENT MARKING - LETTERS AND SYMBOLS	3,008.5	SQ FT	\$5.00	\$15,042.50	\$4.00	\$6.00	\$5.11
8	78009004	MODIFIED URETHANE PAVEMENT MARKING - LINE 4"	6,282.0	FOOT	\$1.00	\$6,282.00	\$0.45	\$1.00	\$0.74
9	78009006	MODIFIED URETHANE PAVEMENT MARKING - LINE 6"	11,689.0	FOOT	\$1.50	\$17,533.50	\$0.80	\$1.58	\$1.23
10	78009008	MODIFIED URETHANE PAVEMENT MARKING - LINE 8"	1,549.0	FOOT	\$2.00	\$3,098.00	\$1.00	\$2.10	\$1.79



# Lake County Division of Transportation 2018 Pavement Marking Project - Return Bid Details

**Project:** 2018 Pavement Marking Replacement

Section: 18-00000-15-GM

**Description:** Removal and replacement of existing distressed Pavement Markings

**CPMS Pin:** B-01139 **Let Date:** 5/22/2018

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
11	78009012	MODIFIED URETHANE PAVEMENT MARKING - LINE 12"	3,029.0	FOOT	\$3.00	\$9,087.00	\$2.00	\$3.15	\$2.76
12	78009024	MODIFIED URETHANE PAVEMENT MARKING - LINE 24"	1,286.0	FOOT	\$6.00	\$7,716.00	\$4.00	\$6.30	\$5.55
13	LC780031	GROOVED PREFORMED PLASTIC PAVEMENT MARKING, TYPE D - LINE 4"	2,300.0	FOOT	\$5.50	\$12,650.00	\$3.25	\$7.00	\$5.43
14	LC780033	GROOVED PREFORMED PLASTIC PAVEMENT MARKING, TYPE D - LINE 6"	3,100.0	FOOT	\$7.50	\$23,250.00	\$5.00	\$10.35	\$7.80
15	LC780034	GROOVED PREFORMED PLASTIC PAVEMENT MARKING, TYPE D - LINE 8"	1,100.0	FOOT	\$10.00	\$11,000.00	\$6.00	\$15.00	\$10.29
16	LC780040	GROOVED PREFORMED THERMOPLASTIC PAVEMENT MARKING - LETTERS AND	728.0	SQ FT	\$25.00	\$18,200.00	\$18.00	\$95.00	\$43.50
17	LC780045	GROOVED PREFORMED THERMOPLASTIC PAVEMENT MARKING - LINE 12"	1,615.0	FOOT	\$7.50	\$12,112.50	\$16.83	\$45.00	\$24.58
18	LC780046	GROOVED PREFORMED THERMOPLASTIC PAVEMENT MARKING - LINE 24"	360.0	FOOT	\$12.50	\$4,500.00	\$31.00	\$92.00	\$47.94
19	X0327979	PAVEMENT MARKING REMOVAL – GRINDING	276,603.1	SQ FT	\$0.70	\$193,622.17	\$0.25	\$0.99	\$0.61
20	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$30,000.00	\$30,000.00	\$1.00	\$102,304.25	\$30,327.56
21	X7800815	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 4 INCH	59,820.0	FOOT	\$0.25	\$14,955.00	\$0.22	\$0.48	\$0.37



# **Lake County Division of Transportation 2018 Pavement Marking Project - Return Bid Details**

**Project:** 2018 Pavement Marking Replacement

Section: 18-00000-15-GM

**Description:** Removal and replacement of existing distressed Pavement Markings

**CPMS Pin:** B-01139 **Let Date:** 5/22/2018

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
22	X7800835	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 6 INCH	8,530.0	FOOT	\$0.50	\$4,265.00	\$0.25	\$0.72	\$0.57
23	X7800845	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 8 INCH	1,100.0	FOOT	\$0.75	\$825.00	\$0.50	\$1.18	\$0.86
		Bid Total			\$892,722.57				